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What is the value of X, if 25% of 480 + 30% of 500 + x% of 90 = 35% of 9007

X [ HIH 44 % afe 480 BT 25% + 500 BT 30% + 90 BT x% = 900 BT 35% %‘?

45
50
55

40




mwb// FOR MORE DISCOUNT VISIT www.mahendras.org & Use PROMO CODE : E06321 /

Two trains start at the same time from two stations and proceed towards each
other at speeds of 90 km/h and 70 km/h, respectively. When they meet, it is
found that one train has travelled 140 km more than the other. What is the

distance (in km) between the two stations?

Gl ¢ U gl 90T H &l WIH] 9 YF gldl © SR hHRE: 90 fbHi/eer 3R 70 fabHl/
€TT 1 1A ¥ Ud-gaR i SR dgdl ¢ | od d fiTad §, ol 91d eidl § fdb U ¢
ORI 140 bt 3191 a1 1 g1 aHl W= & &g Bt g3 (fbi ) = g2

1100

1120

980

1200
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A shopkeeper sells two headphones one at a profit of 25% and another

at a loss of 33%%. If CP of first article is equal to SP of 2nd article, then
find his profit % or loss %?

TF GFGR & §SBIT ,UF FI 25% @I TUT gEY F 33.% F @A W

m%laﬁqﬁagmmmwgﬂﬁma:ﬁwwa:m
g1, df W1 ooy AT gifer wfaera #ra ? . W
e (0

B.25%
C.30%
D.20%
E.NONE
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A shopkeeper sells two refrigerator sets at the same price. He gains 40% on
one refrigerator and loses 40% on the other. What is his net loss percentage in
the whole transaction?

Uh GhHaR &l AThoRer e A DIHT IR §9dl g | 39 Udh Ahoiiex TR 40%
1 1Y Bl § 3R G TR 40% P! gl Bldl ¢ | W d-a4 H 3BT Hd gl
gfa=rd fa-r g2

18%

14%

12%

16%
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A sum becomes 8 times of itself in 7 years at the rate of compound interest

(interest is compounded annually). In how many years will the sum becomes
4096 times of itself?

dehdl sATol I G UR 7 aNl H g AR Fa Dl 8 T &l SiIdl ¢ | (SATSl Al 39
Y ffea giar g) fha- avl § gg AR Aa &t 4096 THI Bl SIIwil?

28

24

56

16
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16 workers working 8 hours per day can demolish a building in 32 days. In how
many days 24 workers working 12 hours per day can demolish the same
building?

ufd fa 8 ©c¢ &1 3 ald 16 YiHd 32 1341 H Ush SHRA &l a3 H: Adbd o |

[ f& 12 9¢ 1 B dIdl 24 4D fba {1 O <t SHRA &1 @G B Jobd

o

128/3 days
56/3 days
128/9 days

56/9 days
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One trader calculates the percentage of profit on the buying price and another calculates
on the selling price. When their selling prices are the same, then the difference of their
actual profits is Rs. 85 and both claim to have made 20% profit, what is the selling price of
each? T& Y @llg Hed T AT & Ffaerd $T 0 FIar g 3 a0 sy feq W
VAT FYAT §1 G 34T Tash A B FA @i € A 39 aafds FaAmh F H< T 85
ARl A 20% ST AT FI FT qrar BFAT §, TAF 1 AFT Aeq 41 87

A.2550
B.2250
C.2750
D.2350
E.NONE
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Height of a right circular cone is 28 cm. If diameter of its base is 42 cm, then
what will be the curved surface area of the cone?

Uh dd dud QP Dl GHdlg 28 THI § 1 AfG 3HD YR DT AN 42 94l 5, dl AP
T dch 1T S T GITT?

4620 cm?
2310 cm?
1540 cm?

170 cm?




/@; %aéeamé// FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO cODE : E06321 /

A shopkeeper sells Mouse, Keyboard, and Tripod each at Rs. 150. If he sells, Mouse at 20%
profit, Keyboard at 25% profit, if there is no profit nor loss in whole transaction, find CP of
tripod? TH A3E, e 3R af N TAF § 150 & a°ar ¢ AR 97 ABH A 20%
T T, F 25% o T d°dr g1 AN [ A & A AT & o gir § 1 & gifer ar

¢r§ 9IS FT HT Hed FA1§ ?

A.205
B.210
C.215
D.220
E.NONE
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A train is moving with a uniform speed. Train crosses a bridge of length 340
meters in 35 seconds and a bridge of length 460 meters in 38 seconds. What is
the speed of the train?

Uh ¢ Udh FHIF Tfd ¥ I ol 6| o1 35 Jds H 340 HIR Pl ddls 3R 38 yhs
T 460 Hiex DI dals D Jd DI UR DRl o < PI Iid H1 52

72 km/hr

80 km/hr

40 km/hr

144 Km/hr
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If the cost price of 80 articles is equal to the selling price of 30 articles, what will
be the profit percentage?

gfc 80 aXG3 &1 T Hed 50 93T P [dehd Hed & JHH g, dl a1 YfcT=rd &l

eI

25%

40%

60%

37.5%




%aéexghga,// FOR MORE DISCOUNT VISIT www.mahendras.org & Use PROMO CODE : E06321 /

If Xis 30% less than Y and Z is 50% less than Y, then Z is how much
percentage less than X7

e X YT 30% FHE AR Z Y I 50% HH T, dl Z, X I food ufawd o1 872
80%
95%
28.56%

735%




mwb// FOR MORE DISCOUNT VISIT www.mahendras.org & Use PROMO CODE : E06321 /

A man purchases some totfes at the rate of 1lfor
Rs.10 and the same quantity at rate of 9 for Rs.10. He
sells all the toffees at the rate of 1 for Rs.1. Find hus
profit or loss % m whole transaction?

F A FT a6 105 A 11 & § T A AT
A 10% & 9 1 ¥ & Tlear g1 ag weft ohr ¥ 1%
A1 # T8 T S &1 3H e/ @ %A 2

2)1%Iloss hY1%nrofit ¢)5%nrofit d14%Iloss
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If 2A =3B =7C, then what is the ratio of A: B : C?
gfd 2A=3B=7C %, dl A: B : C &I 3-IUld &1 g?

21:14 : 6

14 : 10 : 21

21:10:6

2:3:7
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What will be the average of first four positive multiples of 87?
8 & Ugd dR Y-IHD U] Bl 3I-Ad T GRIT?

16

20

32

24
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The average age of 50 teachers of a school is 66 years and the average age of
60 teachers of another school is 55 years. What will be average age of teachers
of both the schools together?

U Thd B 50 [RI&[hI DI I 31 66 IY 3R G ¥Dd b 60 [RA&IDH] DI 3™
3RY 55 aY ¢ | &Il Whdl DI AR fRIafdh! D 3RId 3R 1 g2

60 years
57.5 years
65 years

62.5 years
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By selling 4 articles for 1 rupee, a man loses 4%. Had
he sold three articles per rupee, the profit would have

been :

| T9C | 4 9%q¢ 99 FT TH SH Fl 4% A St 2
Ifg 364 TS TIC H o IEqQ a9l aldl; d 39 9 Bl
(1) 30% (2) 28% (3) 16%  (4) 12%




MM};// FOR MORE DISCOUNT VISIT www.mahendras.org & Use PROMO CODE : E06321 /

Anil goes to his office at the speed of 35 km / hr and returns to his home at the
speed of 30 km / hr. If he takes total 39 hours, then what is the distance

between his office and home?

31fa 35 fpHt / deT o Tfd I 39 SIAad Srdl © 3R 30 fhHl / 9el &f a3

30 @R diedl o | dfe 3 ©d 39 "¢ dild §, dl 39D dIIad 3R OR & did &l
& 187
420 km
525 km

630 km

210 km



mwb// FOR MORE DISCOUNT VISIT www.mahendras.org & Use PROMO CODE : E06321 /

What will be the difference between the compound interest (interest is

compounded annually) and simple interest on a sum of Rs. 3200 at the rate of
20% per annum for 2 years?

2 Y & {dIU 20% dI¥® &R UR 3200 3T & AR R ehdla AT (SATS allyd
I B1) 3R ATLRUT TS BT 3R T GRIT?

Rs. 128

Rs. 148

Rs. 132

Rs. 96
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What will be the Highest Common Factor of 3% x 52 x 7° and 2° x 5° x 3
32 x 52 x 73 3{[X 23 x 55 x 31 HTH. .9 AT s M

213{513{72
2'x 31 x52x 71
23x 39x 57 x 71

313{52
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A sum becomes 14 times of itself in 15 years at the rate of simple interest per
annum. In how many years will the sum becomes 92 times of itself?

g AR Yfd IY FIURU 1 Bl &R I 15 98 H 14 0N 1 il g | fbd anf & ag
I GG T 92 0T BTS2

91 years
195 years
105 years

210 years
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Rahul purchased 80 items from the market. 25% items of the total items were
defective and the remaining items were sold at 50% profit. What will be the

overall profit percentage?

A - dOIR I 80 IV WRIGT | pdf I3 Dl 25% ¥ W14 Al 3R AY G
DI 50% TTY TR &1 747 47| Sl AT U< 1 gIRTT?

10%

12.5%

11.11%

9.09%
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CP of 25 article is equal to SP of 20 article. While the discount on 6 article is equal to
profit on 3 article .if markup price of one article is 5500, then find actual profit on
selling one article ?

25 GF] FT FIT Aed 20 9] F AFT AT & U ¢ | FafF 6 a3 W

m3m3ﬂwma:m%|aﬁwmmmﬁmmssooamw

'crz-?r F dor W Frdet FT amr Qe ?

A.1000
B.1200
C.1500

D.2000
E.NONE
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